
FITTING INSTRUCTIONS 
 

PART NUMBER: T2K544 
 

 

 

 

PROUDLY MANUFACTURING TOWBARS IN AUSTRALIA 

 
 

Kia Cerato  -  07/09 on 

Towing Capacity 1200Kg / Ball Load 120 Kg 

Lug # L270C 
 

1) Remove 3x screws from inside wheel arch and 1x screw in top of bumper in side 

wheel arch. And 1x 10mm bolt from under side at the bottom of the wheel arch, 

both sides. 

2) Pull out plastic push clips from inside boot to expose the rear of the tail lights, 

undo 3x 10mm nuts then unplug and remove tail light both sides unplug 

reversing sensors on passenger side. 

3) Remove 3x plastic push pull clips from under side of bumper and 2x push pull 

clips from under tail light, both sides.  

4) From underneath undo 2x 14mm bolts that hold the impact beam in place. 

5) Gently peel bumper away starting at the wheel arch, and remove bumper. 

6) Remove impact beam from bumper and discard. 

7) From underneath loosely screw angle brackets to chassis rails. 

8) Offer tow bar to vehicle and insert 1x M10 x 35mm bolt and flat washer through 

angle bracket out through beaver panel and through tow bar loosely fit flat 

washer and spring washer and nut, both sides. 

9) Insert M10 bolts and flat washers through remaining holes, and loosely fit the 

flat washer’s and spring washers and nuts. 

10) Insert M10 x 35mm bolt and spring washer through plate and insert through 

shipping hook underneath and fit M10 whizz nut. 

11) Tighten all bolts and refit bumper.  

 

 
                

                                                                               

RECOMMENDED ASSEMBLY 

TORQUE LISTING 

           Diameter                Grade 8.8 Bolt 

                  Nm 

                  M6                     9.5 

                  M8   21.7 

                  M10   43.4 

                  M12                   77.3 

                  M16                189.8

  


